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If so, a seduced one also - 971 77TNIDM 9977 ON

Overview

MR 72 727 TNKR jAm1 20 said that the 2vX of an 701K is the pain of %377 PO
(spreading her legs). The X3 asked, if indeed that is the ¥ of an 701K, the same
should be by a 7mon as well. M2oIn discusses the intent of this question.

= 1893 NYHYAIY DN NYYIY NPT PN 19IRP INNNY NDIIN 11D DIDN9 PIDID Y8 "D W
She (the 1n19n) has the same pain of 29937 120 like an 721K has, so why did the
0°non say to w1, ‘one cannot compare one who was 775v21 forcefully, to one who

was oyal willingly’ -
— 29995139 5810 NN RY PHINNANRT N992T 191997 2797 290 2919 1IN

And my teacher, ®"'t 717 297, said, that the X3 could not have challenged our
mwn, by asking -

- 79¥3 NNN 793 IWVLEAY NIDVY 13 259N DN ININ
‘Why is 21 onR for 7w¥, since eventually she will suffer this pain by her

husband’, the reason the X713 could not ask on the mwn -
= 792 NIYLEN NYIYA IPON NNY

For even a 721v2 suffers this pain of o231 p1oos -
— 30195 NN XYY 1POENY 333 NDYD ANY 7YY NAT 23 HY IN)

! 15w ' maintains that an 70X receives no WX payment since eventually she will have had this pain 792 nnn. The
onon responded that it is not the same pain which she has with the oixn (which is greater), as the pain she will have
with her husband (which is not that painful). From this conversation we can infer that the 7vX is not the 3% of fvan
(for that will not happen by her husband at all). 1"1 therefore explained that the qvY¥ is the 2°237 p10°0 7w, The X3
asked if 0931 P10°0 is the 7w¥, that should apply to a 1mon as well, so (seemingly the question of the Xn3 is that) she
too should receive a 7wX payment (see footnote # 5). However noon explains the question differently; the o°mon
responded to w"3 that 17¥72 N9¥21% 0RA NP1 217 WK, therefore an 01X receives a DIp even though she is 7910
72¥a nnn v, That answer would be appropriate if the 7y¥ is from the o11X2 78*2, however now that 1" is saying
that the 9w¥ is 0°931 P10°0 which occurs whether it is D12 or 17¥73, so how could the o317 answer the claim of W'
that 701X should not receive a 0Ip since VLA 1910, by saying 7217 1K, but if the WY is 2°937 P00 then it is 717, so
the argument of "1 is valid, why make him pay for 0°237 P10°9, since she will have the ¥ later as well. *»1 7non "X
merely means that by a 11¥72 X021 there is the same % of 0°731 P10°0 as by d1R2 X3, so either both nom 01X pay
9vx or neither should pay, as w"- argues!

2 It appears that the s'X73 question 1 iM57 A"X is on the 2’30 of the ¥n»72 who are responding to w" that 717 11X
"1 (see footnote # 1). "1 7"177 is coming to answer the following question. Why does the X113 ask this question (only)
on the 0o of the Xn»13, the same question can be asked on our 71wn, which states that the 0ixk» is 2»1 for 01p. The
argument of w"1 is valid that (since the 2¥¥ is 2731 P10°0 7wX) she is will have the same ¥ by her husband, for P10°
2237 is the same whether it is 01182 or 71¥12.

3 This is different from the 7v¥ of losing her o102, which once it is done, she will no longer have it again, however
here the ¥ of 0737 70°0 is a recurrent WY, therefore the 01X needs to pay for it. There is no question on the 71wn.
However on the o25m of the Xn*>12 we can ask, since the 0751 explain the reason for the 01p is because 01K 7217 1K
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So even though he had relations with her now, nevertheless since eventually she
will suffer pain again so she did not gain anything, by having this % now —

An addendum
:[59109 NMON INNN 7999 PNINANRT NN ‘NYP]

[It seems somewhat that the X7 n3 is challenging the 71w, by asking, ‘why by a
nnIen is he exempt from paying 017 (but not why is a 21 D1xn)]

Summary
The question *»1 7Mon 7"X is on the 13127 of the Xn»12 who say that there is a

difference between 0118 and 11¥7, but if the qv¥ is 2°931 P19, there is no difference
between DX and 1¥.

Thinking it over
How can we explain that "1 >117 2777 disagrees with n90n and agrees with the >"n?°

11¥7Y, but since @°231 P10°0 WX is also by (11¥713) 7Mon, so how can we distinguish between 0ixn and 7non?!
4 The bracketed line is an addendum from > mooIN.
51t seems that the >"n is arguing with N0 (and 7"771 [see ‘Thinking it over’]?) and maintains that the question is not
on the o1 of the Xn»13, but rather on the 7awn that since a 7Mo» also has @°237 P10°d WY, so why is the Mo N
from wX. See footnote # 1 & 2.
6 See 12 M0,
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